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4 4 7

4 3 2

4 4 1

5 4 3

FOR PLAYER I

Strict dominance strictly dominates

Wean dominance weakly dominates

weakly dominates

weakly dominates

Equivalence is equivalent to

is a dominant strategy
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4 4

changes
4 3 2 from

4 4 previous

4 3 slide

A strategy is strictly dominant if it strictly

dominates every other strategy.



A strategy x, which is not strictly dominant, is weakly 
dominant if, when compared to any other strategy y,

either x dominates (weakly or strictly) y

or x is equivalent to y
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OUTCOME:

PLAYER 1'S PAYOFFS:


